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Fs B SOV LR v RIS R e ZxES | FHRE R R
1 Wy AR 98 K 2 LHhep B IEXHITA RF 2 92.75 = 4
2 Wi R 9 K sk I 1 — o EHRHFEHITA ES 7 94.78 =
3 W 2R 58 K ok I fi — BHHFHITA F IR 3 92.14 7
4 Wy AR 5 K 3 I o o mHRFHITA IXE 6 79.57 =N
5 Wi AR 9 K b LI B EEHITA PR 10 91.05 A
6 Wy AR 5 K 3 I i — o A EHTA X KT 12 94.85 =N
7 W FR R 56 A 3k I fey — BPMEHFA | EaF 13 92.24 =4
8 Wy AR 6 K 3 Il i — o EHFEHITA & 89 92.74 =) 4
9 W AR 9 K b Il o o R NERITA &3] 85 92.73 Y
10 W AR 5 K 3 I fey o EEEHTA | 2R 86 90.16 ey
11 W R 58 K ok FRFF I E XHTA I 5 16 91.68 Y
12 Wy AR 98 K 5 3 Fraewer P EXHITA | B R 17 90.75 R
13 WLy R i 9 A b J T I HE XHITA TEF 26 90.16 Y
14 Wy AR 6 K 3 656 # I E XH A W & 3% 27 90.09 =
15 Wy AR 98 K 3 A I IE XA R E 31 89.94 = 4
16 Wl 7R U 56 K % 3 Fliy MHEXHFA | XAZR 35 87.77 4
17 Wy AR 98 K 2 3 & IR A ey 34 86.20 = 4
18 W AR S K 3 H e & 1 3R T A BF 97 93.31 ey
19 Wi R 9 K b & F M FHITA Tt 93 91.05 N
20 Wy AR 5 K 3 FRH M HITA ot 100 90.86 H
21 W 2R U 58 K 2 3k AR E W FHITA AR 95 89.01 =4
22 Wy AR 98 K o 3 LAV M HITA X 1 98 87.31 R
23 Wy AR 98 K Bl S MEHFEHIFA | B EH 94 87.22 =%
24 Wy AR 98 K 3 Hrdp 1 FEEHIFA S 52 92.77 =k 4
25 Wi AR 98 K 3k R A FEE AT A FA 41 92.37 = 4
26 Wy AR 98 K o 3k A I FEEHIFA LA 57 91.48 = 4
27 Wy AR 98 K 2 Bl A FEIE AT A e 44 91.42 = 4
28 L AR U 98 K % 3 HE ¥ e EHFA [ R 42 91.25 = %
29 WL AR U 98 K 4 3 HEPF M EEHTA | FHH 48 91.21 4
30 Wy AR 5 K 3 Elrg M EIEHITA X I 49 91.06 =N
31 WHRFEAFERE | FREECHETE | WFEEHITA o # 62 90.30 =4
32 W AR S K 3 Hrdp & XH B x| % 187 95.29 e
33 W AR U 5 K 3 Friew ¥ EXHITB e 216 94.12 R
34 W AR S K 3 Hr e & & XH B B 3 224 94.03 ey




Fs B AR A BB FREE L "H EXES Zi SR SRR I5A
35 Wi R 9 K b % —LHNF EXH B A 168 93.47 =
36 Wy AR 98 K Frae & X H B /N 217 93.47 =\
37 Wy AR 98 K o 3 Fraewer & XH B 145 IR 173 93.22 =4
38 Wy ARV 98 K 5 Bl & X # B x| 7 B 183 92.84 = 4
39 W AR U 98 K 5 3k LW —/AE IR K & X JFB X| BRAR 220 92.61 =N
40 Wy AR 9 K 3 T oA & X # B gLt 165 92.36 Y
a1 | Rk S YN & X JFB b 179 92.12 = 4
4 W FR U 56 A 3k %N X H B %zt 206 92.11 R
43 W AR 98 K 5 3k El = & X JFB =E 219 91.92 N
44 W 2R U 58 K ok El & X #)FB X 8 225 91.54 R
45 W 2R 96 K 3 &R EXHITB & 195 91.01 ERF
46 Wy ARV 98 K 5 HEPF & X # B ZE 203 90.15 = 4
47 W 2R 96 K 3 FEFY EXHITB X|&E%& 218 89.90 ERF
48 W FR U 56 A 3k F B /N B XH# B KX 207 88.81 ENE
49 Wy AR 6 K 3 J T/ & XH B ] e A 209 88.73 =)
50 Wl FR 5 K 2 3k AN E & XH B B 171 88.21 R
51 Wy AR 98 K 5 3k WAFAR T A K X #TB BBz 163 87.84 = 4
52 WL 2R U 58 K 2 ok TRANE & X #)FB AN 192 87.46 R
53 i 2R 96 K 3 AR F EXHITB T A 202 87.21 ENE
54 W 2R U 58 K 5 3k PARF R AR K & X#)FB Zeqp e 223 87.14 =4
55 Wy AR 6 K 3 656 # EXH B T 194 86.64 =N
56 Wy AR 98 K 3 Hriep BEHIFB i 4 128 93.67 = 4
57 W 2R 96 K 3 o ¥ H B W % 110 92.69 ENE
58 Wi R 9 K 2 b T A HEHIFB MR E 126 92.06 Y
59 Wy AR 5 K 3 & HEHIFB ZRIL 136 90.60 N
60 Wi AR 9 K b b3 HEHIFB IE 108 90.37 Y
61 Wy AR K 3 b5 # HEHIB BHEE 121 87.95 =N
62 W AR 9 K 3 LA HEHIFB LW 113 87.33 =4
63 WLy K K sk 656 # HEHIFB R 139 86.19 R
64 Wi AR 9 K 3 % —LHNF HEHIFB k¥ 137 84.93 Y
65 Wi 2R 98 K 3 /N F HFHITB &k 123 84.51 R
66 W 7R 0 76 K % 3 PRAN ¥ #HFB FHE 133 80.85 =4
67 W AR 35 K % 5k HE P HiEH B % T 71 92.49 =N
68 Wy AR 98 K 5 Pk FIEH B X F 73 92.44 =4
69 Wy AR 5 K 3 & FiEH B x| & 66 91.65 H




Fs FREB UL = FLES AR B RIS R e ZlES | FHRE AL R
70 W AR S K 3 Fo R A KEHITB P aRe 67 91.33 EQy
71 Wy AR 98 K BRACNE FIEH B mF B 77 90.89 = 4
72 Wl AR U 98 K % 3 Kl 1132 4 JF B FRE 233 92.20 E ]
73 Wy ARV 98 K 5 B WEH B 1 235 90.48 = 4
74| KRR Fo b ¥ H B ZRT 239 91.49 = 4
75 Wy AR 98 K HE e H B kEw 240 88.95 = 4
76 Wy AR 98 K 3 Wi HREEHEEHFB| T#Ma 158 93.87 = 4
77 W 7R 0 76 K 3 3 F PR o 2 BELEERFB| BEE 143 92.94 ey
78 Wy AR 98 K 5 3k e #E 5 E% B X 150 91.80 = 4
79 W 2R U 58 K ok J e o HEGFEEHIFB| t#hExy 145 90.62 R
80 Wy AR 5 K 3 b5 # BESFEHFB| M 154 90.51 =N
81 Wi AR 98 K 3k El BEEEEHTB| ZUHE 144 90.36 ENY
82 W AR 98 K 5 3k F & HEGHEHITB| I 147 90.17 =N
83 Wl FR 5 K 2 3k s W H B Bt 245 93.11 Ny
84 Wi AR 98 K 5 3k Bl S W H B BRI 248 92.65 =k 4
85 Wy AR 98 K 2 3 Jie FEL o 2 EHE#FB =] 79 91.74 = 4
86 B 98 K 3k LR B EELITA KR 01 89.93 N
87 Hy B 9 K b Il i o 5 B YA A 2wk F 02 84.48 =g
88 Hy B 5 K 3 LR L FEHITA FER 06 84.89 H
89 R AF | WA R ARE | WFEIHTA 2k 08 90.33 =4
90 B 5 K 3 J T H M HITA K 79 85.72 =N
91 WEE RS | ARG X EMREE | WEIEEHTA #4344 10 89.57 =4
92 R RPN WEANE EXH B HHEW 50 91.20 R
93 MR AES | RmtrE X goh ¥ & X H B EAE 43 89.53 Y
94 U 5 A 3k FhF X #TB X% 49 88.95 =
95 MR AES | REmtrE X E b & X H B x| 4 45 87.08 Y
96 W 9 K 3 Fliw ¥ HFB # stk 20 89.56 4
97 HEE RFE s | ARt UL R ¥ BB o 38 88.25 =4
98 Hy B 56 K 3 WA F HEHIFB %7 25 87.99 H
99 Hy B 9 K 3 WEANF HEHIFB I 27 87.78 Y
100 B 5 K 3 FElNF HEHIB IR A 37 87.70 R
101 [ o 2 ) K% 3k iGN H¥HIFB D=3 34 87.24 H 4
102 | B URJE Kok PACFAL T FAR X ¥ T X B F 29 85.34 %
103 B 98 K HZ LN F BEHFB o5 24 84.74 = 4
104 B e K 3 FZEHmNF HEHIB YEE 26 82.65 H




Fs B AR A BB FREE L "H EXES Zi SR SRR I5A
105 B 98 K 3k b6+ HIEHFB TR 59 91.69 =
106 Hy B 9 K b Jo HIEHFB HH 4 i 74 90.89 Y
107 B e K 3 b6 # FiEH B Wont 64 88.69 =N
108 | o B 55 k5 3k il FEHITB B b 73 88.61 = 4
109 RN b= RIEHB e 63 88.40 Ry
110 | o B 56 k¥ 3k Ko/ HIEHIFB CCER 61 88.26 Ny
1L | B 58 K% 3 YRR T FE AR X KEHIFTB Wit % 55 88.08 ENE
12 | B ik Rl FIEH B Y 62 87.61 = 4
113 | i B JfsE A3k Rl M H B B 78 88.53 E %
114 | o B e K3k Jie el o 2 M HFB T4 76 87.12 ENY
1S | oy BJfsE K3 Bl s b # 7B e 14 89.32 ER
116 Hy B 9 K b b2 tEHIFB M 13 85.76 Y
117 Hy B 56 K 3 J T H ¥ FB x| Ea 11 83.39 =N
118 N Kb B ELITA B A 2 89.04 Y




